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Unless he is greater than him, etc. — 5915 13157 9178 10 BX NON

OVERVIEW

The X 13 stated that if 977 instituted 9120119 for all generations to follow then no
one can nullify this 73N, since the rule is that one 7"°2 cannot nullify the ruling of
another 7"°2 unless the nullifying 7"°2 is greater than the original 7", in wisdom
and in number. Md0N discusses this rule.

nooIn asks:
—H1VaY 5159 PPN 131991 DI I1P2AN HNRIY? 2192 LWT ON 137 2391 9NN ON)

And if you will say; what situation are we discussing; if this ruling (regarding
7120779) was accepted among the majority of Jews, then even if the nullifying

7""1 is greater that the initial 7"°3, it still cannot nullify the initial ruling —
— 19249 1179 533 (x5 nar ) 1270Y12 PN 9992 1299NTI

As 11"227 said in the name of 1M " in PTRYR PR P99 regarding the =227 n''»
(eighteen things) -

— 19 PYMIY PN 1357 1529 1Y N2 199NV
“That even if X>2177 %7°8 and his 7'">2 will come to nullify the 127 11" we will not

listen to him’ (as x°w~wn 27 explained), ‘since 2XW> 2172 1R LWD’ -
— 902 9199 JUP AN HNIY? 2193 VY NYT IN)

And if (7120170) was not X 2w 2172 v, then even a smaller 7°121 77272 72 can
nullify it -

— Y1 1YY 13193 1991 11923 *NOWIN NTINY %297 ’vw 1) OHN 29I 1299NRTD
As Xwwn 17 also states there regarding oil of gentiles that X>wa7 3" and his

7''%2, voted on it and permitted it -
— HNIY? 2192 190N LY NYT DIVYN

Since R 2792 170N ¥wD RY.
In summation: MdoIn asks that it seems that the rule of 9173 2"XX 17°2am 72 5727 02> 7127 7™2 PR
71121 non2 nn, does not apply; for if the 771 was PRIW° 2172 VWD then even MM 9173 cannot be

Svan (as in 127 1) and if YWD XY then even a JuP can be Y021 (as in 2™OY 1AW).

madIn answers:

" The mwn in 2,2 2w and the subsequent X3 mention and discuss in detail the 127 7"> which the 221 were T,
% The mwn there on 2,77 states that (1°7 n°21 X°17) the o»on forbade eating 1w of 2"y (like 2"y 291 and ™oy no).
? See *"w in the mwn there that this is referring to 7X°w31 *"7 an X X who was a grandson of *27. See 7"7 X1 'o1n
IR,
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— HNOINI) 13 PYNIY 139 2927 DY 13939 1910 ONN ININRP RAT 990 W
And one can say; for the X713 there states regarding the 7w "n°7, ‘and our

teachers (referring to 7"v21 X°w177 >"1) depended on the words of 2''aw" -
— 099N PNV PITY 92 TYON 229 99327 Y

And on the words of 7172 92 X''% who used to say -
— P12 1YY BY919% 91A8N 299 19 BN NYN 928D YY 7991 P PR

We do not issue a decree on the public, unless a majority of the public can

bear it’ this concludes the citation of the X3 there -
— N2 TNYY D919 PN XY DN LYW XYT 99N1Y NS ONY A0 NN NHYNT DIVN YHYN

It seems because regarding 1»w where there were two reasons 7°n:1%, therefore the
7"2 of X°w17 >"1 had the power to permit it, for it was not 7X7w> 2172 vws and

also 712%77 211 was not able to bear such a hardship (of not using 2"y 12W) -
— 5\9\09 N9 7YY 95919 1 N 4‘11)995 0919 191 XY VY IN X9 YaN

However here regarding 212015 we will say either it was vws but 2%%12° 197 &>

715,° or it was TIm¥% 299127, but YRS KY; in cither of these two cases we say 219> 71 PX
I M2 130 D173 O"RK 1772 702 127 Suab.

In summation: if it is vwd and TMY> 0°71>° then no one can be Yvan it (127 n™); if Ywd 8% and PR
TMY2 0°912° then any 72 can be van it (nw); if it is 7YY 2212 PRI VWD or TNY? D127 VWD KY,
then only a 2173 72 can be 2van it (7720179).

mooINn presents a contradictory view:
— 19931 )3 NDY *¥a 1INY 229 0NN INT "nav+ NP 7992 915WIYA 15 ¥YIYN PN)

However it does not seem so in %219 750 in first P2 of naw noon; for it says

there, 3''1 asked (regarding the 70771 of 2"12¥ 12Ww) but did we not learn -
= 1931229 NNONA 12N J1T) 19 BN NIN 193N 1>7 %2 927 JVAY P9I 1T 53 PRY

That 3727223 77725772 127297 9173 2''RR 1927 792 9127 Huab ®12° 7'"92 P8 and here -
— 1NN INT YORY N9 17010 1377 51%2) XOWIN NN 229)

w3t "9 and his 7''92 are permitting what %X%17 and his contemporaries

forbade -
— Y189 279N 29 bwa 1INY? 229 9INRT NINYTI 1IN 229 NYN

Rather >''1 answers this difficulty by following his view, for >''9 stated in the
name of X''aR" -

* See “Thinking it over’ # 1.
If it is vwd and 12 TMYY 21> (like the 727 1") then even a »17x 72 cannot be Hvan.
% See “Thinking it over’ # 2.
73" in our 9w on 2, A7
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— 11791 NN 1YY 92 219 19259 KDY 28N HY PN PT HXAY NN YV 25PN
‘I have received a tradition that any decree which 7''92 issues on the public and
the majority of the public did not accept it upon themselves, it is not a valid

decree’® -
— 1959 92 21 192 KDY PV HY NI INM) Y1)

And they investigated and found out in regards to the decree of J»w that 29

12257 did not accept it upon themselves. This concludes the citation from the 77w -
— 7330 NTINY RNYO INNAT YU NAYN

It seems evident that with this (one) reason alone (that vwo XY) it is sufficient for
any 7"2 to be van and we do not require two reasons VWD XY and 7YY D71 PX.

mooIn asks an additional question
— PPNT RN 170) 179 ADY1IN NDID SWIN TNYT RPUD INY 7599 (3,2 97 NIND YWII2T T

And furthermore in the beginning of 7% noon the X3 asks, ‘for if you will
assume that the 371> "wiR instituted that the 7922 be read on the fourteenth

and fifteenth, is it possible that -
— 5919 1941 193 PN NN NYITHN NDID SYIN 1PNT KNMPN 199 1939 1NN

The later 3339 came and uprooted the 77:pn which the 3''7715 2R instituted, but

we learnt in a 771w that 7''92 98, etc.’ this concludes the citation from 77223 -
— MY 19919% VYA XINDN DN

And there (regarding reading the 71%°31) presumably it was Y%7 2172 vws and
most of the 7128 was Tny® 1P912°.

mooIN answers: '
- 13”35\’)?‘1’3 INIVYNTI YvaY N 997X 199N 939 1A NPT 9199 U

And one can say that only regarding the 227 1"'> then even a 173 7"°2 cannot be

Buan (the 127 1") as we find in %2 71150 that even a 9173 7™32 cannot be Yvan the n"
127 -

¥ This seems to mean that X7 2172 vws &Y. This #2217 which states that 137 1 cites $"2x7 as saying that if vws &Y
it is not a 77’13 contradicts the *222 in 1"V (cited previously in this M20IN) where *"1 said in the name of ¥"2X that X
73 T 1919 MAXT 27 OURR ML B P (see ™MW 0"in).
? According to this *»9u1 the original question remains if it was vws (like the 127 n'"™) then even if 1an 9173 they
cannot be Pvan and if vwd X7 then even a Jup can be van. When does the rule of 15 1117 2172 3"&& "3 7"2 X apply.
!0 The 1321 ruled that the 0937 *12 can read the 7" on 2° X and ».
" The question is why regarding the 727 "> the X3 in 1"v ruled that even if 7"21 %7°9% would come they could not
annul it since PXW> 2172 VWD, however here by 77217 NX™MP it seems that a 7173 7"°2 would be able to be P01 it.
"2 Mmoo (seemingly) is accepting the view of the w1 that if bwd XY then even a Jup can be Yvan, but if vwsd then
only a 9173 can be Hvan, except for the 727 0" where even a 7173 cannot be Svan.
B, mw (in our *mowr).

3

TosfosInEnglish.com



X7X 77"7 '011 2,77 PUUa 702

— 0YMYAIL DNY ITNRYVY 29N

Because they staked their lives on it -
— 951 £%3 5151913 12990 190 IRPY 73 SRt Honn NS

As is mentioned there that the students of @''3 were Kkilling the students of 77''2
— 9327 179 YIN HVAY 9195 YY1 9321 Y9a)

And regarding any ruling (even if vwo and 7YY 0°712°) a 9173 7"2 can be Hwan

except for the 227 n''s -
— 95015 919 1V 19%9K 1MW J5Y 1TNRYT 23 YY GN 1AV NI VWS KT XIS

And wherever the 1108 was vwp X» for instance 0"y 2w even though they
risked their lives for it (it was one of the 727 11"), nevertheless even a jup 7"2
can permit it —

mdoIN anticipates a difficulty:
— AN HY NI DI PNRT NIN 935ma9 191909 9INPT N

And that which the X7n) stated (in 1"V), ‘and our Rabbis depended on that
which was stated that 21227 92 579915 299193 1R unless 72 Tnvh o127 —

mooIn replies:
— Y90IRY 19 13193 DINYWNINI TININ NN XYT DIWN NON NIVYO NINH *NNI NY

The X713 did not mention that reason (of 121 1M1 °X) in order to explain how
they had the power to do it, for that was already explained by saying it was VWD X?,
rather the (second) reason was mentioned in order that you should not ask,

since the 0°»0n1 of prior generations voted to prohibit 2"y pw -
— ONRY MINNAY 1Y NN NATTIR NNY DY NN NI b

Why did the 7"°2 of *"7 vote to permit it; on the contrary they should have

voted to continue the prohibition -
— 1119939 Y9271 M) NN 1192319 192D XYY 19T DINVYNIT ONDNT NN93 JNIYNY

For we find in many places where the earlier 2°1on decreed and the people did
not accept it from them, and the later 2°non decreed it again and the people did

4 %,0 (in our "MIWI). Y WY DY 1A AW "0 .22 TRRNA PANT P aunbn 1 1Y w1 MTROn KPNR VYT M RIn
0°M1n72) MM 7oY.
13 58017 initially was M3 on "2 1w (only in the city); by the 927 1" (where J7°nWwa1a 171°9 17) they expanded the
77773 to include even 77w2.
'® The x»3 was explaining how X°w3n >" was 02y 7aw . First the X m3 said because bwd 8 and then the X3
continues that this 7"°2 was 7210 on the ruling that 72 7%V 2°215° 71287 217 3"KX 112%7 %Y 7777 2> PR. The question
is why this second reason is necessary. 19010 just concluded that if vws X7 then even a Jvp 7"*2 can be van, and by
1MW it was not w9, so that is a sufficient explanation why *"1 and his 7""2 were able to be 1w 7°nn, there is no need
for the additional explanation of 131 127 217 3"RX 121 7713 PR.
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accept it from them; we find this -

— @) 91 POINT NP 7993 (2,1 9 NAYT NP P92
In the first 275 of *naw and in the first P25 of 1»1,*® so here too even though the
people did not accept the 7773 on 12w from the D°1WwXA, nevertheless 11°7 n°21 °"7 should have

attempted to uphold the first 77°72 instead of abandoning it -
— 12 PNRYY 199152 91a8 219 PRT NINT DIYN MONRD MINNY NN NDT 9INRP 291D

Therefore the X713 explains that >"2 did not want to vote to prohibit 2"y 1w,
because he saw that 12 772p% 172127 7128 217 PN.

In summation: According to the "»%w17 when an M0°X is VWD then only a 7173 7"™2 can be %van
(except for the 127 "), however when it is not Ywd then even a Jvp can be van.

mooIn limits the ability of a Jvp 72 to be Pvan a 771°13 which was Lws X7:
— NPT IAN DIPNA NYN INIY? 993 9IDINN DWONY 1PN XIY 9373 171519

However regarding a ;mpn which initially was not intended that it should apply

to Y8"w"» ¥3, but rather for one specific place -
— P91 ¥YPIN 297 (v poin AWAN 3 P97 NONNS

Like that incident in 2w2a;7 2 275 where 29 came to 2990w -
— 515 909 908 913 N3 91 RSN NYPA NNT

Where the X713 states that 27 found an unfenced valley and erected a fence,

meaning, he forbade them from eating the udder of a cow -
— 1IN 232 1INV 299 DAY YON) 99 232 Y INYYT (x,05p nav) PUIN P97 T30 Y2 19

And similarly all those issues in 7210 P95 where the 25w32 %12 sent to "7, and 219

Xwin (after the death of ") forbade them because they were not 7710 %32 (even
though they would be permitted for others); in all these case even though the 710°X was not vw»
987w 2112, only in one particular area, nevertheless, only a 7"2 -

2109 X9 9PNNY 912> 911
®173 can be 2°n% (for these people who were prohibited) but not a Jup 7.

7 The xn3 there is discussing 0°7° nxmw for 7. Initially *Xnw and 97 were X0 M3 on 2°7° for 7N but &>
onn 123p, and then the >Xnwl 9277 7120 were INA and ann 122p.
'8 The xm there is discussing the 10X that were placed on a°n1> (they are to be considered as 713 2™2Y).
Originally 3" 1" were 7113 on the o°m> (different 0>110°X) 077 172p X1 and when *oX 271 "X 27 were M3 they were
ann 17ap.
' The residents of w9170 were not observing the laws of 27112 Twa.
* This is an expression indicating that this place was like an unfenced area where there is no protection from
outsiders, but 21 erected a protective fence by making the proper 71pn.
! The udder of the cow may be cooked and eaten (even though the udder is meat and it accumulates milk) provided
it is prepared in the proper manner, however 21 forbade the people of w1919u0 to eat the 21> under any circumstances
since they were lenient regarding 2512 wa.
*2 In this limited area it was bw».

5

TosfosInEnglish.com



X7X 77"7 '011 2,77 PUUa 702

SUMMARY

According to the *222 a 7173 72 can be %van only if it is VWD K or 12 TAY? PO PR
(like ?12019), however if it is vwd and 12 7YY 112 (like 127 ™) they cannot be
Svan. A Jup 72 can only be P07 if it is vwd X7 and 12 TNMYY P21 PR (like 1AW).
According to the n%w17 it depends solely if it is vwo (then only a 9173) or vwd X7
(even a Tvup) except for 127 "> which no one can be 021 since 17"NMWDIA 1177 17AY.

THINKING IT OVER

1. Mmoo writes that by 120119 it may have been uws but Tny» 212 89.% It seems
difficult to comprehend why they were not T1v% 0°912° by 912019 since it was for
everyone’s benefit (as the X3 states shortly).**

2. m»doIn assumes (according to the *922) that if 7Y% 19913° 891 VWD then a 7173 can
be “van.> Seemingly all we can derive from 1w is that for a Top to be Yvan we
need both vws XY and TMY? P2 PR, from 9120179 we can derive that if vws XY and
TIYR P10 a 7173 can be Hvan,*® but if it is vwd and TY? PR13° X2 we have no reason
to assume that even a 2173 can be 2van (and this would also explain 727 1"). Why
does MdOIN assume that a 2173 can be Y021 by TMY? 79137 K9 bwd?!1*

2 See footnote # 4.
* See n"ma.
¥ See footnote # 6.
%0 See previous question,
%7 See 1"nR # 229.
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